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Rearrangement of Sentence 7

Directions: Given below are some statements with their first part given. The other parts
are scrambled and arranged. You need to rearrange them in a logical and coherent
manner and choose the option which depicts the correct arrangement. If there is no
need for re-arrangement, please select option E.

1. Substitution between natural capital and man-made capital...
A. agents internalize the costs where destruction is inevitable

B. is an inevitable part of economic development but an

C. audit of natural assets will incentivize us to figure out

D. the least-polluting ways of economic development, and help

2. The vicious cycle of violence in...

A. stems from a failure of the mainstream

B. political parties to implement their core vision
C. the Kashmir Valley, that has affected civilians,

D. military forces and separatists, fundamentally

3. While the increase in the proportion of adults...
A. having bank accounts is indeed impressive,

B. 48% of those who have an account

C. in a financial institution made no

D. withdrawal or deposit in the past one year



. The decline in...

. total credit during the 2004-14 period
. in corporate credit of large borrowers
. the share of small borrowers in the

. can be explained by the dramatic rise

. Argentina is not alone...

. in trying to weather the current run
. on currencies due to the rallying

. U.S. dollar and rising interest rates

. among major emerging economies

. The health goal under the United Nations SDG is...
. arguably, the most important target on the

. other indicators of socio-economic development

. because of its inextricable connection with

. agenda of India and other member countries

. About a billion people..

. paramount importance but it is increasingly becoming clear
. else can sacrifice the interests of future generations

. that a focus on growth in GDP to the exclusion of all

. still live in poverty and improving their lives is of

. In Dieter Helm’s latest book...

. the aggregate level of natural capital should not decrease



B. and any renewable natural capital that is destroyed should be
C. he proposes an aggregate capital rule which requires that

D. compensated for with improvements in other renewable capital

9. The PM Krishi Sinchai Yojana..

A. with solar pumps, which will reduce the fiscal subsidy
B. in any case does nothing for the groundwater level

C. proposes to replace electric-powered irrigation pumps

D. for power, but calls for a solar pump subsidy, and

10. If the non-agricultural sectors ...

A. were to absorb the labour force into jobs

B. a provider of anything like a stable or adequate
C. at a sufficient pace, the decline of agriculture as

D. livelihood could perhaps be countenanced



Correct answers:
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Explanations:

1.

C
Out of all the statements, only B fits in as the first statement after the given fragment.

Connectors:
B and C:

B. is an inevitable part of economic development but an
C. audit of natural assets will incentivize us to figure out

C and D:
C. audit of natural assets will incentivize us to figure out
D. the least-polluting ways of economic development, and help

D and A:
D. the least-polluting ways of economic development, and help
A. agents internalize the costs where destruction is inevitable

The correct sequence is B-C-D-A.
Hence, option C is correct.

2.

The first statement after the given fragment has to explain where the violence is taking place
(due to use of the word ‘in’in the fragment). The only statement that fits is C.

Connectors:

C and D:

C. the Kashmir Valley, that has affected civilians,
D. military forces and separatists, fundamentally

D and A:
D. military forces and separatists, fundamentally
A. stems from a failure of the mainstream

A and B:
A. stems from a failure of the mainstream
B. political parties to implement their core vision




The correct sequence is C-D-A-B.
Hence, option C is correct.
All the fragments are already arranged in a proper manner and need no rearrangement.

Hence, option E is correct.

3.

Here, the first fragment after the given statement can be either A or C. If we keep A as the first
statement, C does not fit in anywhere. Thus, C is the best fit.

Connectors:

C and A:

C. the share of small borrowers in the
A. total credit during the 2004-14 period

A and D:
A. total credit during the 2004-14 period
D. can be explained by the dramatic rise

D and B:
D. can be explained by the dramatic rise
B. in corporate credit of large borrowers

The correct sequence is C-A-D-B.
Hence, option C is correct.

4.

Here, the first fragment after the given statement can be either A or D but if we keep A, D does
not find a place meaningfully.

Connectors:

D and A:

D. among major emerging economies

A. in trying to weather the current run

A and B:
A. in trying to weather the current run
B. on currencies due to the rallying

B and C:
B. on currencies due to the rallying
C. U.S. dollar and rising interest rates

The correct sequence is D-A-B-C.



Hence, option A is correct.

5.

Here, the first fragment after the given statement is A clearly as no other fragment fits in.
Connectors:

A and D:

A. arguably, the most important target on the

D. agenda of India and other member countries

D and C:
D. agenda of India and other member countries
C. because of its inextricable connection with

C and B:
C. because of its inextricable connection with
B. other indicators of socio-economic development

The correct sequence is A-D-C-B.
Hence, option B is correct.

6.

Here, the first fragment after the given statement is D clearly.

Connectors:

D and A:

D. still live in poverty and improving their lives is of

A. paramount importance but it is increasingly becoming clear

A and C:
A. paramount importance but it is increasingly becoming clear
C._that a focus on growth in GDP to the exclusion of all

C and B:
C. that a focus on growth in GDP to the exclusion of all
B. else can sacrifice the interests of future generations

The correct sequence is D-A-C-B.
Hence, option A is correct.

7.

Here, the first fragment after the given statement is D clearly.

Connectors:
D and A:
D. still live in poverty and improving their lives is of



A. paramount importance but it is increasingly becoming clear

A and C:
A. paramount importance but it is increasingly becoming clear
C._that a focus on growth in GDP to the exclusion of all

C and B:
C. that a focus on growth in GDP to the exclusion of all
B. else can sacrifice the interests of future generations

The correct sequence is D-A-C-B.
Hence, option A is correct.

8.

Here, the first fragment after the given statement is C clearly. No other fragment fits in.

Connectors:

C and A:

C. he proposes an aggregate capital rule which requires that
A. the aggregate level of natural capital should not decrease

A and B:
A. the aggregate level of natural capital should not decrease
B. and any renewable natural capital that is destroyed should be

B and D:
B. and any renewable natural capital that is destroyed should be
D. compensated for with improvements in other renewable capital

The correct sequence is C-A-B-D.
Hence, option D is correct.

9.

Here, the first fragment after the given statement is C.

Connectors:

C and A:

C. proposes to replace electric-powered irrigation pumps
A. with solar pumps, which will reduce the fiscal subsidy

A and D:
with solar pumps, which will reduce the fiscal subsidy
D. for power, but calls for a solar pump subsidy, and

D and B:
D. for power, but calls for a solar pump subsidy, and




B. in any case does nothing for the groundwater level

The correct sequence is C-A-D-B.
Hence, option B is correct.

10.

Here, the first fragment after the given statement is A. No other fragment fits in.

Connectors:

A and C:

A. were to absorb the labour force into jobs

C. at a sufficient pace, the decline of agriculture as

C and B:
C. at a sufficient pace, the decline of agriculture as
B. a provider of anything like a stable or adequate

B and D:
B. a provider of anything like a stable or adequate
D. livelihood could perhaps be countenanced

The correct sequence is A-C-B-D.
Hence, option C is correct.
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